Limestone Cycle
1.     Thermal decomposition reaction 
Limestone




→
Quicklime



+
Carbon Dioxide


Calcium Carbonate (s)


→
_________   _______ (s)

+
Carbon Dioxide (g)



CaCO3 (s)




→
______ (s)



+
CO2 (g)


2. 
Exothermic Reaction

Quicklime


+
water

→
Slaked lime

Calcium Oxide (s) 

+
water (l) 

→ 
____________   ___________ (s)



CaO (s)



+ 
______ (l)
→
 Ca(OH)2 (s)


3. 
Precipitation reaction

Limewater


+    Carbon Dioxide 
→ 
Calcium Carbonate 
+ 
water


Calcium Hydroxide (aq) +   Carbon Dioxide (g) 
→ 
Calcium Carbonate (s) 
+ 
water (l)


Ca(OH)2 (aq)


+      ______ (g)

→
__________ (s)

+
_____ (l)
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